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1. 次の積分を計算せよ。検算すること。
(1)

∫
(2x− 3)5 dx を計算しよう. 2x− 3 = t とおくと

dt

dx
= だから dx = dt. したがって∫
(2x− 3)5 dx =

∫
t5 dt =

(2)
d

dx

(
(2x− 3)6

12

)

(3)

∫
cos(2x− 3) dx

(4)
d

dx

(
1

2
sin(2x− 3)

)

(5)

∫
e2x−3 dx

(6)
d

dx

(
1

2
e2x−3

)

2. (1)

∫ √
x dx =

(2)

∫
1√
x
dx =

(3)

∫ √
2x− 3 dx を計算しよう. 2x− 3 = t とおくと

dt

dx
= だから dx = dt. したがって∫ √

2x− 3 dx =

∫ √
t dt =

(4)
d

dx

(
1

3
(2x− 3)

3
2

)

(5)

∫
1√

2x− 3
dx =

(6)
d

dx

(√
2x− 3

)



3. (1)

∫
x
√
x2 + 1 dx を計算せよ. (x2 + 1 = t とおく)

(2)
d

dx

(
1

3
(x2 + 1)

3
2

)

(3)

∫
x√

x2 + 1
dx を計算せよ. (x2 + 1 = t とおく)

(4)
d

dx

(√
x2 + 1

)

4. (1)

∫
dx

2x+ 1

(2)

∫
x
√
1− x dx

(3)

∫
cosx√
1 + sin x

dx

(4)

∫
x(1− x)4 dx

(5)

∫
tanx dx

5. (1)

∫
x2e−x dx

(2)

∫
x sinx dx


